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Solving...

Quadratic equations

@ Section 8.1 Solving quadratic equations using factors



Example 1

Solve the equation x* — 5x — 14 = 0.

Example 2

Solve these equations:
(i) 2x*—9x=0
(i) 4x¥2 —25=0




Exercise 8.1

Solve the following quadratic equations:

1. Xx—2)(x—4) =0

Solve the following quadratic equations:

2. x—4)x+2)=0

Solve the following quadratic equations:

3. x—6)x+4)=0



Solve the following quadratic equations:

4, (x—4)(2x—3)=0

Solve the following quadratic equations:

5. (x+3)(6x—9) =0

Solve the following quadratic equations:

6. 2x—1)x+4)=0



Solve the following quadratic equations:

7. x(x—3)=0

Solve the following quadratic equations:

8. x(x+5)=0

Solve the following quadratic equations:

9. 2x(x+3)=0



Solve the following quadratic equations:

10. ¥*+7x+10=0

Solve the following quadratic equations:

11. x>+ 12x+35=0

Solve the following quadratic equations:

12. x> +14x+48=0



Solve the following quadratic equations:

13. X —5x+6=0

Solve the following quadratic equations:

14. x> —8x+15=0

Solve the following quadratic equations:

15. X2 —10x+21=0



Solve the following quadratic equations:

16. x2—x—12=0

Solve the following quadratic equations:

17. x>’ —-3x—10=0

Solve the following quadratic equations:

18. x>’ +3x—28=0



Solve the following quadratic equations:

19. 2x* —5x+2=0

Solve the following quadratic equations:

20. 2x2—3x—2=0

Solve the following quadratic equations:

21. 2x*—x—6=0



Solve the following quadratic equations:

22. 2x2+5x+2=0

Solve the following quadratic equations:

23, 3x2—7x+2=0

Solve the following quadratic equations:

24, 3x2+x—10=0



Solve the following quadratic equations:

25. 3x2+10x—8=0

Solve the following quadratic equations:

26. 3x2—13x—10=0

Solve the following quadratic equations:

27. 3x*+19x—14=0



Solve the following quadratic equations:

28. 4> —12x+5=0

Solve the following quadratic equations:

29, 52— 13x—6=0

Solve the following quadratic equations:

30. 5x>—13x+6=0



Solve the following quadratic equations:

31. 2 —6x=0

Solve the following quadratic equations:

32. 2x2—5x=0

Solve the following quadratic equations:

33. 3x2—4x=0



Solve the following quadratic equations:

34, 42 —x=0

Solve the following quadratic equations:

35. 5x2—6x=0

Solve the following quadratic equations:

36. 3x2—7x=0



Solve the following quadratic equations:

37. x*—-9=0

Solve the following quadratic equations:

38. x2—25=0

Solve the following quadratic equations:

39. 4x2—1=0



Solve the following quadratic equations:

40. 4x? —25=0

Solve the following quadratic equations:

41. 9%x*—-16=0

Solve the following quadratic equations:

42, 4x2 —49=0



Solve the following quadratic equations:

43. 2x(x — 2) = 3(x + 10)

Solve the following quadratic equations:

44, (x —2)(x—3)=20

Solve the following quadratic equations:

45. (2x—5)(x—2) =15



46. Solve the equation (x — 8)(x — 2) = 2x(x — 5).

47. Write down the roots of the equation
x? + 2x — 3 =0 by referring to
the graph shown.

~

48. Write down the values of x where the graph of each of these functions crosses the x-axis.
(You do not need to draw the graphs.)

(i) y=Kx—4)x+)5) (i) y=K+2)x+4) (i) y = (x—5)x —6)



49. Three parabolas are shown here.

y=x2+6x+8 \ / y=x2—8x+ 15
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y=x2—x—2

Use the graphs above to solve the following equations (each has two solutions).

(i) x2—8+15=0 (i) x2+6x+8=0 (iii) ¥X—x—2=0

50. (i) How many values of xmake (x +2)2=07?

(i) One of these sketches shows y = (x + 2).
Which one?

Explain your answer.
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Exercise 8.1
1. x= 2,4 2. X=-—-2.4 3. x=—4,6

4. 3,4 5. —3,3 6. —4,-
7. 0,3 8. —50 9. —3,0
10. -5 -2 11. —7,-5 12. —8,—6
13. 2,3 14. 3,5 15. 3,7
16. —3,4 17. —2,5 18. —7,4
19. 5, 2 20. 51,2 21. =, 2
22, -2,—5 23. 3,2 24. —2,3
25. —4,% 26. =% 5 27. -7,%




28.
31.
34.
37.
40.

43.
46.
47.
48.
49.

50.

(iii) x = —1, 2

(i) one (x = —2)

30.
33.
36.
39.
42.
45.

(i) —4, =2
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